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Bachelor of Science (Honours) Agriculture/B.Sc. (Ag.) and MBA (ABM) Part-I
Examination of the Four/Five-Year Degree Course, 2018-19

SEMESTER-I
FUNDAMENTALS OF PLANT BREEDING
(GPB-211)

Time : 2 Hours

Section-1 : 10

Maximum Marks : 70
Section—11:60

Attempt all questions.
Answer of Question No. 1 and 2 be written in the space provided alongwith the questions
in Question-booklet. Answers of Question Nos. 3, 4, 5, 6 and 7 be written in
the Answer-book provided for writing answers.
In case of any discrepancy in English and Hindi versions of the paper,
only the English version be taken as correct.
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SECTION -1
Qus - 1
Time : 20 Minutes] [Maximum Marks : 10

The Objective part (Q. Nos. 1 and 2) is to be covered in the Question paper itself and would be
collected by the invigilator after 20 minutes of the commencement of the examination.
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: Choose the correct answer and write the number of correct answer 1 or 2 or 3 or 4 m( lloi chu;,;‘;

~ given against each sub-question. .
T I T T W WA | a2 3 4 T Su-v @ A & o fafeg

" (@ Pureline theory was proposed in which crop? D
~ (1) Lime bean
(2) Faba bean
' (3) French bean
- (49 Moth bean.
G aveed fasra fFa wew o fen @ an
(1) WA AR
(2) T
() 9 94
@) ¥ &
(i) Chemical used for creating artificial polyploid is D
(1) Palmilene
(2) Algene
(3) Nephthalene
(4) Colchicine.
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(iii) Qualitative characters are controlled by which genes? L__I
(1) Oligogenic
(2) Polygenic
(3) Both the above
(4) None of the above.
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(iv)  Sub-lethal mutation kills

(1) More than 50% individuals
(2) Less than 50% individuals
(3) 100% individuals

(4) Does not kill the individuals.
ST SARTd U geq Bt ®
(1) 50 wfow | afors

(2) 50 vfow@ 9 wH

(3) 100 wfcer

(@) fwdt = T A 2

BRC

(v)  Grid method of mass selection was proposed by I:]
(1) Hays
(2) Gardner
(3) Hopkins
(4) Briggs.
g R0 w1 e fagr <o o
(1) ?H
(2 TER A
(3) e A
4 fsa

(vi) A restorer gene is present in D

(1) Nucleus

(2) Cytoplasm

(3) Nucleus and cytoplasm both
(4) None of the above.

TR S oo ot @

(1) =sH |

(2) =IRHEA H

(3) Hsw 3R FIREHESA [ °
(4) SWe ¥ Q@ e A =0

20/000/(1,190)/C-330 5 [PT.O.






(x) A cross between F; and homozygous recessive parent is called
(1) Monohybrid cross
(2) Dihybrid cross
(3) Test cross
(4) Back cross.

F, 3R 99gms st 39w & o9 ger B e 8
(1) THA-HH FHO

(2 feHat g

(3) vlEu HH

(4) THRGES GHOI

2. Fill in the blanks : (10%0.5=5)
Raa w i +1 9fd *if -

(i) Horizontal resistance is governed by sdssessesessssesasesessavest el SRR SEELES genes.

T B 1 R S S e s I g P wdR R

(ii) A group of plants developed from a single plant by vegetable propagation is called

aﬁmm@ﬂﬁﬁﬁmwmm .....

Hedl 2l
(iii) Dicliny is a mechanism to promote pollination.
SET et . W H FeEl a6 2

(iv) Full form of TRIPS is ...
AamaEiy. (frw) #1 @ ™ 2
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number of stamens
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Bachelor of Science (Honours) Agriculture/B.Sc. (Ag.) and MBA (ABM) Part-11
Examination of the Four/Five-Year Degree Course, 2018-19

SEMESTER-I
FUNDAMENTAL OF PLANT BREEDING
(GPB-211)
SECTION - II
aug - 11
Time : 1 Hour 40 Minutes] [Maximum Marks : 60

The Subjective part (Q. Nos. 3, 4, 5, 6 and 7) is to be covered in the Answer-book provided for
writing answers. The Answer-book would be collected by the invigilator when the candidate
finishes as per rules.

The question paper containing the Subjective part can be taken by the candidates alongwith them.
fawacT® W (W9 Wem 3, 4,5, 6 T 7) B IW D TR IW-qE § e §1 Iw-gfe
TRl g0 TT-99 U w0 B 9 s gh FrEEER @ ot ser

forves s @1 weA-u wdened o W & s e 2

3. Define the following : (5x1=5)
Frefafaa = wRwfya FifvT -

(1) Protogyny.
Y- SAtgeal

(ii) Multiline.
ERENED]

(iii) Centre of origin.

I HH

20/000/(1,190)/C-330 9 | £ 2[:1/(; ;



4.

WA ERIGVERN

fean
FAGNE (A
(v) Male sterility.
| I
Differentiate between the following : (2x3.5=7)
frafafaa R+ :

(i) Haterosis and Inbreeding depression.

A 3w 3R w-sifen felvR (RIS EW)!

\(ﬁ). Hybnd and Composite varieties.

WX wE fula fee
Wnte short notes/comment/justify the following : (2x6=12)
frafafaa 1 9QY # feooi/avivsren FifT

(i) Intellectual property rights.

dfew TR AR

(i) RAPD (Random Amplified Polymorphic DNA).
FRTRA. (Yew wreiwEs deiniies )

Explain any two of the following three questions in 1-1%2 pages. (2x8=16)
frafafaa & v § |/ fFdl D 3 W 1-1% W ¥ )

(i) Objectives of Plant breeding.
YRY §H & IR
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(i) Chemical mutagens.

T I

(iii) Single seed descent method.
THd 9 Fo fafi

7. Explain/Describe in detail any two out of the following three questions in 2-3 pages. (2x10=20)
frfafaa 7 sl % ¥ B B 3w 2.3 3 A A

() Define Back cross. Describe the procedure of back cross method for the transfer of
dominant gene. Discuss the advantages and disadvantages of back cross method in the
improvement of self-pollinated crops.

A H H R FIY T T S R O R 3w i P
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(i) Describe the different types of self-incompatibility of plants with suitable examples.
fafr= vR =t @: Afeme w1 St afe 9l S

(iii) Define Drought resistance. Describe the various mechanisms of drought resistance found
in crop plants. Explain briefly the various morphological and physiological characters
associated with drought resistance.
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